(1) EFSRIEMR (2E)

(ks 1 od, 25BN : %)

£ ES it
NERL | JE UE M F S | ERE R ¥ M oo P /E M Wk 244 FEE R AR | TRk 254 S ERR ARG | 2 @R
M/ M,/ ot %
1| KkE—3 AR | EFAFEKERIT RS O1THEL75%194 17, 400 22,700 30. 5
k71— 12—-35]
2 | RBE—1 ATR | REAGHERKARNTRAANT 4 5 0 % 19, 000 22, 700 19.5
TBEARNT6 — 2 7]
3 |imE—1 ATFRO|THAGESLETERA4TH 1 0%S 30, 900 36, 500 18.1
TEW4—10—11J
4 |E—6 AETR |SatiF S sl 3 6% 1 94 21, 500 24, 200 12.6
5 |[ARmH—17 FHER  [(ATEHFHATEHE101 1% 14, 600 16, 300 11.6
6 |&fr—3 AR |SEATRTEHE 1 HE 1 6%5 20, 800 23, 200 11.5
7 |vwbE—-12 wER | WhEMETFRIFEAMRS 7% 3 24+ 36, 000 40, 000 11.1
8 | KME—9 ATFR KRR FERE 3 7% 4 15, 600 17, 200 10. 3
9 [m%&—13 ERE (A& THTIEO3THSES 50, 000 55, 000 10.0
10 [KiiE— 4 ATFR | KRETRIT T FEREFR 1 2% 1 5 26, 500 29, 100 9.8
[ ¥ it
NERL | JE UE Hi S | ERE R ¥ Moo P /E M Wk 244 FEE R AR | Tk 254 S ERR RS | ZE@heR
M/ M,/ ot %
1 [P5—3 IR TP RE A TFR2 THOO0 7H 1 4 635, 000 720, 000 13. 4
2 |F&ES5—1 EWR | RETBIT1 7 8% 2 54, 000 61, 000 13.0|
Fgmrs—21]
3 |+5—8 PRZE)I IR BRI P RIL AT 1 5 4% 6 44 1, 830, 000 2, 050, 000 12.0)
4 |dk5—12 KB | RBKHAEX 2B 5 TH2%F 1 678, 000 750, 000 10. 6
fheB5—-—3—811J
5 [dk5—8 KB | RBRHACX AR 6 T H 6 9 & 990, 000 1, 090, 000 10.1
FrExKii6 —8—11
6 |fERE5—1 KEFF | RIKTifESRERE3THI 6% 408, 000 448, 000 9.8
&3 —3—7]
7 [dk5—9 KB | RBRHAEXFEL2 TH 6 3% 1 398, 000 437, 000 9.8
FE02—13—41
8 |EhkEF5—2 EWR MIETESRE R 3 TH 4% 7 201, 000 220, 000 9.5
[ s —4—311
9 |kH5—1 KBFF  |RETITRIT I TH2 3% 1 8 655, 000 715, 000 9.2
[T¥iT1 —23—4 3]
10 [dk5—5 KEFF | RIHACX BRIRT 3 9 4 678, 000 735, 000 8. 4
FEFIEmT9 — 1 3
()

Al U228 = CHARLAS R 70 D DI,

(LLFOFIZHOWTHLT, )

INBUSSE 2 AL T OB AL L D b D,




(ks 1 od, 25BN ¢ %)

T *® Hh
NERL | JE UE M F S | ERE R ¥ M oo P /E M Wk 244 FEE R AR | TRk 254 S ERR ARG | 2 @R
M/ M,/ ot %
1o [fno—1 FIER W) EAHNT 9 % 5 44 71, 000 79, 000 11.3
2 B9 — 1 FIER  [ETER 2 TH 6% 24+ 61, 500 67, 000 8.9
FoEmizc—14—11
3 |EEr9 — 2 EWE S (IIETEREXEIT3 TH4% 2 044 31, 300 33, 500 7.0
M3 —4—371
4 | FE9I—1 EWRR | RETTEIRNT 3 % 4 4 10, 600 11, 200 5.7
5 |lmE9—1 ETR | FRAGENLEBT SRR 2 thE 1 3% 6 17, 700 18, 600 5.1
6 [EWHo—1 FIE AT THETHHEEE2 2% 640 14, 800 15, 500 4.7
7 |AEI-1 BER | AETEHTREME S & 40, 000 41, 500 3.8
8 |#R9—1 PRZE)I IR | BRI TS LXK 20T 1 T H 2 & 8 4% 83, 100 86, 000 3.5
9 |EHEF9—1 EWE O (IATEREREAE2 TH2E 1 1 23, 200 24, 000 3.4
10 [&MEo —1 EWR | KAETREE2 3F 1 17, 000 17, 500 2.9
£l H 32
NERL | JE UE Hi S | HRE R ¥ M oo P /E M Wk 244 FEE R AR | TRk 254E S ER RS | 2 @heR
M/ M,/ ot %
1| KkE—3 AR | EFAEKERIT R 01 THE175%1 94 17, 400 22, 700 30. 5
[RZ71H1—12—-35]
2 | RBE—1 ATFR | RPACHERKAERNTEAANT 4 5 0 % 19, 000 22, 700 19.5
TEREARNT6 — 2 7 ]
3 |iE—1 ATFRO|THACHESLEMTER4TH 1T 0%S 30, 900 36, 500 18.1
TEW4—10—11J
4 PS5 —3 IR TP REHATFR2 THOO 7H 1 4 635, 000 720, 000 13. 4
5 [Ba&5—-1 EWR | RETBIT1 7 8% 2 54, 000 61, 000 13.0|
Fgmrs—21]
6 |a—6 ATR |SatiE S s 3 6% 1 94 21, 500 24, 200 12.6
7 |5—38 FRZR)I IR BRI P RIL AT 1 5 4% 6 44 1, 830, 000 2, 050, 000 12.0)
8 | AREHE—17 FHER  [(ATEHFFATEHE101 1E 14, 600 16, 300 11.6
9 [#fr—3 ATFR O |SEATRTEHE 1 HE 1 6%5 20, 800 23, 200 11.5
10 [H)io—1 FIER [T EAHIT 9 % 5 44 71, 000 79, 000 11. 3
()

[ UZS R TN S R 702 2 DI,

UTFTORIZHOWTHLT, )

INBUSSE 2L T OB AL L D b D,



